1 MPaBO Ha BHECEHNE TEXHUYECKNX N pa3MepHbIX n3MeHeHuA

Komnanua SMC coxpaHsieT 3a cobol

N
3

Mukpothunbtp

G1/8 ~ G2

AM

I'IpenHaaHaqu ANnA yoaneHnua U3 ¢xxatoro Bosfyxa MacnaHoro TfymMaHa 1 TeepplX YacTtul, pasMepom CBbille 0.3 MKM.

» Bbicokas nponyckHas cnocobHOCTb
* MpogomxuTenbHblit Cpok cryx6bl

o BCTpOEHHbIil MHAVKATOP KOHTPONA COCTOSIHIAA (PUMBTPYIOLLETO 3N1eMeHTa (NoTepb AaBrieHus)
o Jlerkas 3ameHa UNbTPYIOLLEro anemMeHTa

o BonbLuoil obbem pesepsyapa
o ABTOMaTUYECKIIA OTBOA KOHAEHCaTa

« BoamoxHocTb MogynbHoro MoHtaxa (gnst AM150C ~ AM550C)
o Bo3aMOoXHOCTb ucnonHeHus ¢ ynnotHeHuami ua FKM (zna AM150C ~ AM550C)

TeXHHYEecKHe XapaKTepHCTHKM

Tunopaamep J AM150C | AM250C | AM350C | AM450C | AM550C | AM650 | AM850

MpucoeaunHuTeNbHasA pesbba G1/8 G1/4 G3/8 G1/2 G3/4 G1 G11/2
G1/4 G3/8 G1/2 G3/4 G1 G112 |G2

HomuHanbHbIl pacxop, 300 750 1500 2200 3700 6000 12000

Boaayxa (Hopm. n/muH)

WcnbitatenbHoe aasnexue (MMa) 1.5 (2.0 — gnA ucnonHeHua ¢ onuueii H)

Makc. pa6ouee gasnetue (MMa) 1.0 (1.6 — AnA ucnonHeHua ¢ onuueii H)

MuH. pa6ouee aasneHue (Ma) 0.05

[nanasoH pabouux temnepatyp (°C) 5~ 60

TOHKOCTb chunbTpaLMy (MKkM) 0.3

CopepXaHute Macna Ha Bbixoge He 6onee 1 Mr/Hopm. m°

Cpok cnyx6bl dunbTpyloLiero anementa® | 2 roga unu Npu AOCTUKEHIN nepenaza gaenexus 6onbiue 0.1 MMa

Bec (kr) 0.38 0.55 0.9 1.4 2.1 4.2 10.5

1) npu gasneHu Ha Bxoge P1=0.7 MMa
2) npu 30 Mr/HopM.M° Ha BXogE

3) UHBUKATOP KOHTPOMA COCTOSHIAA (MBTPYIOLLErO AMIEMEHTA MOMHOCTBIO BbiBUrAETCA Npi nepenaga dasneHus 0.1 MMa
4) Ha 6onbLuve TUNopaaMepbl ucnonbayiite dunsTpsl cepunt AFFOA ¢ ucnonHeHnem —X13

Homep ang 3aka3a
Tunopaamep | MpucoeanHutensias | HomuHambHbliA Homep ans 3akasa
peabba pacxof Bo3ayxa Vcn. ans Beicokoro
(HopMm. 11./MuH.) nasnerus (1.6 MMa)
AM150C G1/8 300 AM150C-F01C-T AM150C-F01D-H
G1/4 AM150C-F02C-T AM150C-F02D-H
AM250C G1/4 750 AM250C-F02C-T AM250C-F02D-H
G3/8 AM250C-F03C-T AM250C-F03D-H
AM350C G3/8 1500 AM350C-FO3D-T AM350C-F03D-H
G1/2 AM350C-F04D-T AM350C-F04D-H
AM450C G1/2 2200 AM450C-F04D-T AM450C-F04D-H
G3/4 AM450C-Fo6D-T AM450C-F06D-H
AM550C G3/4 3700 AM550C-F06D-T AM550C-F06D-H
G1 AM550C-F10D-T AM550C-F10D-H
AM650 G1 6000 AM650-F10D-T
G11/2 AM650-F14D-T
AM850 G11/2 12000 AM850-F14D-T
G2 AM850-F20D-T

MpuHapnexHocTH (3aKa3biBAOTCA OTAENLHO)

Paamepbl cm. cTp. 30

&1

KOHCTPYKUHA W MORYbHbIA MOHTAM cwm. cTp. 34

Tunopa3amep AM150C AM250C AM350C AM450C AM550C AMB50 AM850
KpenexHblii yronbH1K AM-BM101 AM-BM102 AM-BM103 AM-BM104 AM-BM105 BM56 BM57
[NepexogHas getanb Y200 Y300 Y400 Y500 Y600 - -
CMeHHbliA hunbTPYIOLLNIA SNEMEHT AM-EL150 AM-EL250 AM-EL350 AM-EL450 AM-EL550 AM-EL650 AM-EL850

39



MukpothunbTp
AM

BbiGop mogenx

Mogenb MukpochunbTpa BeIBUPAETCA MO 3HAYEHUAM BXOAHOTO AaBNEHUA 11 MaKCUMabHOMO pacxoaa

©XaToro Bo3yxa C UCMOMb30BaHUeM rpacika pacxofHoii XapakTepucTiAKiA.

BxoaHoe masneHue 0.6 MTMa, MakcuMansHblii ypoBeHb pacxoaa 5 HOpM. M°/MUH.

« Ha rpadhuke pacxogHoil xapakTepucTIKi HAXOAIM TOUKy nepeceyeHs A Ans 3Ha4eHin AaBneHua

nutaHus 0.6 MMa 1 MakcuManbHOro pacxofa 5 HopM. M°/MUH.

» [anee BblﬁlllpaeTcﬂ bnuxaiias K Touke A KpuBaa MakCumanbHOro pacxoda, pacrnonoxeHHas BbilLe.

B naHHom cnyyae 310 kpuBas ana unbtpa AM6E50.

He PEKOMEHIYETCA UCNOJIb30BaTh AaHHbIe ychOI?ICTBa npu pacxofax Bo3ayxa, NpesblLIaOLLX PAaCXOabl,

YKa3aHHbIE B TEXHUYECKINX XapaKTEPUCTUKaX.

CneunanbHbie HCNOMHEHHA

20
— -
£ 1} ANEBY —
= = L
=3 C L | L —
Z S ANE0— A —

B -
2 L /Rﬁ//
g | | —TT
s 2 50C:
=y | AT | —
g T e T [
g 'FT= ——
E F ] el 1
e 05
s I ] L
|

g r o 0| L —

0.2

L
0.1
0.2 0.4 0.6 0.8 1.0
BxopHoe aasnexue (MMa)

AMO-X37, AMOC-U

AMO-X6, AMOC-X6

AMO-X15, AMOC-X15

AMLC-F

' r Hom
L. 15 —— L
LT“;E.-
o

[udbchepeHrunanbHoe pene aasnexus,
CUrHanu3npyroLLee o AOCTIKEHUN
npeAesbHo onyCTUMOro

nepenaga fasneHus.

KoHraxTsl pene nepeknioqarorcs,

Korga pasHoCTb MeXzy AaBneHuaMI

Ha Bxoge u Bbixoge gocturaer 0.1 MMa

OudpdepeHLinanbHblii MaHOMETp
GD40-2-01.

YcTaHaBnmBaeTca Ha KpbiLLke husbTpa

1 1O3BOSIAET [MOCTOSHHO KOHTPOMPOBaTh
nepenag fanexuii 663 JOMOMHUTENbHbIX
0TBOZJOB OT TPY6OMPOBOZOB

OnaHLeBoe npucoeanHeHmne

Marepuan ynnotHeHuin FKM

AMOD, AMOGOD

YCTpoIicTBO aBTOMATUYECKOrO
0TBOAA KOHAEHCaTa

40




Mist Separator

Series AM

Model
Can remove oil mist in compressed Model AM150C | AM250C | AM350C | AM450C | AM550C | AM650 | AM850
air and remove particles such as N a0 | 750 | 1500 | 2200 | 3700 | 6000 | 12000
Rated flow (¢/min (ANR))
rust or carbon of more than 0.3 um.
i Port size Ve, Va | Va, % | 3,12 | V2,% 3,1 1,112 | 1122
Mass (kg) 0.38 0.55 0.9 1.4 2.1 4.2 10.5

Modular connection is possible

with AM150C to 550C.
(For details, refer to page 58.)

AM150C to 550C AM650/850
Symbol
N N\
(For drain cock) (For auto drain)

to
M&%eer Made to Order
(For details, refer to page 63.)

Note) Max. flow at 0.7 MPa.
Max. flow varies depending on the operating pressure.

Refer to “Flow Characteristics” (page 21) and “Maximum Air Flow” (page 22).
m Note) Refer to “Made to Order” (page 63) for high flow type of AM850 or more.

Specifications

Fluid Compressed air

Max. operating pressure 1.0 MPa

Min. operating pressure™ 0.05 MPa

Proof pressure 1.5 MPa

Ambient and fluid temperature 5 to 60°C

Nominal filtration rating 0.3 um (Filtration efficiency: 99.9%)

Oil mist density at outlet Max. 1.0 mg/m® (ANR) (=0.8 ppm)*
Element life 2 years or when pressure drop reached 0.1 MPa

* With auto drain: 0.1 MPa (N.O. type) or 0.15 MPa (N.C. type)
+ Oil mist density at 30 mg/m® (ANR) blown out by compressor.

Accessory
Applicable model | AM150C | AM250C | AM350C [ AM450C | AM550C | AM650 | AM850

Bracket assembly | 5\ g\101 | AM-BM102 | AV-BM103 | AM-BM104 | AM-BM105 | BMS6 | BMS57
(with 2 mounting screws)

/\ Caution

e

Be sure to read this before handling. 1
Refer to back pages 1 and 2 for Safety Instructions, “Precautions for 1|
1 Handling Pneumatic Devices” (M-03-E3A) for Common Precautions, 1
L and back pages 3 through to 7 for Specific Product Precautions. 1

e e e e e e e e e e e ]

SVC 18

N



Series AM

How to Order

AM|550C|—-| |10 ==

o o
__Body size Made to Order
Symbol Applicable compressor Thread type (“How to Order” and the applicable models are different from those
output (guide) Symbol] Type shown on this page. Be sure to refer to “Made to Order”.)
150C 2.2 KW — Rc Symbol Description Page for details
250g 3.7 m = o — — —
350 S5 N NPT X6 | With differential pressure gauge (GD40-2-01) P.64
gggg ;; Ew +1 Conforms o X26 | N.C., N.O. auto drain, drain piping type P.65
1SO1179-1.
Port sizee———
. Applicable body size
Symool | Si2¢ |750]250C [350C[450C S80C | Accessory_ | ioption =
01 18 | @ ymbol Lescription Symbol Description
02 | 174 | @ | ® = — = _
*2
03 3/8 o o B .B.racket F | Rubber material: Fluororubber
04 1/2 [ HK ) #2 B[;acket i '”°|”gle‘?j’ H | For medium air pressure (1.6 MPa)
06 | 3/4 oo (but not assembled). J | Drain guide 1/4 female threaded *4
10 1 ® R | IN-OUT reversal direction
) With differential pressure switch (30 VDC) *5
Auto Drain Specifications/Option Combinations \1; E'emem_se“"cer:”i'ca:.’t' ;
©: All draining specifications are available (including drain guide, J type). egreasing wash, ' while vaseline
A N.C. auto drain (C type) is not available. x4 Drain piping and piping for a stop valve such as ball valve are required.
w: N.C. auto drain (C type) and N.O. auto drain (D type) are not available. «5 Differential pressure gauge is included, (but not assembled).
— F H R u ‘ T Y, «6 Only body/housing is degreasing washed.
— © A ©) Note [®)
v L
5 ? - % : » Auto drain *°
Symbol Description
@) A Note ©)
3 © — Drain cock (Without auto drain)
T Note Note o C N.C. auto drain
v o v v o) ®) D N.O. auto drain
Note) one of them selectable []: Not available *3 Refer to the table below for the combination between the draining
' specification and option. (Only one draining specification is selectable).
Options
Symbol F: Rubber material: Fluororubber Symbol H: For medium air pressure Symbol J: Drain guide 1/4 female threaded
(1.6 MPa) |
. Can be pipied to the
Fluororubbgr is used for the parts Can be used up to 1.6 MPa at drain exhaust port.
such as O-ring and gasket. maximum
’ 1/4 female threaded
. J . J
Symbol R: IN-OUT reversal direction Symbol U: With differential pressure
switch (with indicator
Air flow in the separator is changed to ( )
right to left. Saturation of the
(Air flow direction of the standard: Left separator can be
N observed visually or by
to right.) ; )
& J an electrical signal.
(Element life check)
Symbol T: With element service indicator
- Saturattion of tr;)e Max. contact capacity: 10 W DC
Pressure separalor can be Rated contact voltage (max. operating
observed visually
drop (Element life cheék) current): 30 V DC (0.33 A)
0.1MPa YT ETEEE L L
N J ! |
: ! O
Symbol V: Degreasing wash, 15 :
white vaseline L2 :
LD :
Body/housing is degreasing washed. The 3 :
lubrication grease for O-ring and gasket is l T : O
changed to white vaseline. [ i
. J S J

19

O
2



Mist Separator Series AM

How to Order

AM650/850

AM| 650 |-

10

Body sizel
Applicable compressor
Symbol output (guide)
650 37 kW
850 75 kW
Thread type
Symbol| Type
— Rc
F G
N NPT
Port size ®
. Applicable body size
Symbol | Size 650 850
10 1 () —
14 114 [ J [ )
20 2 — [ ]

Accessorye®

Symbol| Description

B Bracket *!

+1 Bracket is included,
(but not assembled).

IMade to Order

(“How to Order” and the applicable models are different from those shown on
this page. Be sure to refer to “Made to Order”.)

Symbol Description Page for details
X6 | With differential pressure gauge (GD40-2-01) P.64
X26 |N.C., N.O. auto drain, drain piping type P.65
X12 | White vaseline specifications P.65

¢ Option *2

Symbol

Description

J

Drain guide V4 female threaded *4

R

IN-OUT reversal direction

T

With element service indicator

«4 Drain piping and piping for a stop valve
such as ball valve are required.

¢ Auto drain *?

Symbol

Description

— Drain cock (Without auto drain) *3

D N.O. auto drain

+2 Refer to “Auto Drain Specifications/Option

Combinations”.

*3 Body size 850 is equipped with a ball valve

(Rc3/8 female thr

eaded). Mount a piping

adapter IDF-AP609 (page 58) to the ball valve if

NPT3/8 female th

readed is required.

m Note) Refer to “How to Order Bowl Assembly” on page 59.

Auto Drain Specifications/Option Combinations

©: Available []: Not available

. P . Auto drain specifications Option Applicable model
Auto drain specifications/Option D J R T [AM650 | AM850
Auto drain specifications | N.O. auto drain D ©) ©) ©) O
Drain guide 14 J © ©) ©)
Option IN-OUT reversal direction R © ) ©) ©) ©)
With element service indicator | T ©) ©) (©) ©) @]

O
2

20



Series AM

Flow Characteristics (Element oil saturation)

Note) Compressed air over max. flow line in the table below may not meet the specifications of the product.
It may cause damage to the element.

AM150C AM450C AM850
0.04 0.04 Lgb 0.04 g‘ﬁ
> Max. flow line _J C;’ € :;..
. . -]
= 003 § = i 73@ oA = 0.03|-Max. flow line ; 0@_ 0’_\ o
o D o2 a O 77 o o o
2 |vactow P2 s / / ><< s éé‘/—
ax. flow line - o
§002 //%5{0‘ g’o A~ // gogg v ////
e / / / =
- éé& : = e /
& 001 a 001 & 00I—=A
0610 200 300 400 05600 1200 1800 2400 3000 3 & s 12
Air flow rate (¢/min (ANR)) Air flow rate (¢/min (ANR)) Air flow rate (m3/min (ANR))
AM250C AM550C
0.04 0.04 .
§
L Max. flow line Nl
—_ _— =l \.! -
7003 0,'\\9 ! T 003 0‘9-‘5669
< Mex fow e o ot 9 e é .
Q ax. flow line - 0_.} Q
2 002 /,/ -///Z&-{ 2 002 // 7’
[0] (9]
g // o
i | =1 | i | 27
a 001 a 0o
OO 200 400 600 800 1000 03 1000 2000 3000 4000 5000
Air flow rate (¢/min (ANR)) Air flow rate (¢/min (ANR))
AM350C AMG650
1 &
0.04 § 0.04 = Max. flow line J&" ' P
o m o1
o ¢’ o /7 A
07| 1 -
T 0,03 Max. flow line L Oce— | F 008 T AR
Q Q
3 002 ////:f/ 3 002 ,//’/////
g == 0 Z—
@ = @
<3 o
a 001 o 0m
OO 400 800 1200 1600 2000 03 1500 3000 4500 6000 7500
Air flow rate (¢/min (ANR)) Air flow rate (¢/min (ANR))

21

O
2



Construction

Mist Separator Series AM

AM150C to 550C, AM650

T

-

4
-
2 | e
l j
3
Component Parts
No. | Description Material Note
1 | Body Aluminum die-casted Chrome treated
2 | Housing Aluminum die-casted™ | Epoxy coating on inner surface
3 | Sight glass Tempered glass —

* The AM850 is aluminum casted.

AM850
i
= )
IN ! out
o Jo ) our
1 #
| '

m Note) Refer to “How to Order Bowl Assembly” on page 59.

component parts. However, it differs from the actual

QNote) Sight glass is indicated in the figure for easy understanding of
construction. Refer to dimensions on pages 23 through to 25

Replacement Parts for details.
L ) Applicable Model
No. | Description| Material | ““rogel [ AM150C | AM250C | AM350C | AM450C | AMS550C AM650 AM850
4 Element | Glass fiber, |Except option F| AM-EL150 AM-EL250 AM-EL350 AM-EL450 AM-EL550 AM-EL650 AM-EL850
assembly | others | ForopionF | AM-EL150-F | AM-EL250-F | AM-EL350-F | AM-EL450-F | AM-EL550-F — —

* Element assembly: With gasket (1 pc.) and O-ring (1 pc.)
+ Refer to back page 6 for replacement of auto drain.
+ Element assemblies for Made to Order (X6, X12, X20, X26) are same as those for standard (see the above table).

Maximum Air Flow

Model Selection

Max. flow line

Max. air flow rate (m3min (ANR))

Select a model in accordance with the following procedure taking the
inlet pressure and the max. air flow rate into consideration.
(Example) Inlet pressure: 0.6 MPa
Max. air flow rate: 5 m3/min (ANR)
1. Obtain the intersecting point A of inlet pressure and max. air flow
rate in the graph.
2. The AMB650 is obtained when the max. flow line is above the inter-
secting point A in the graph.

Note) Make sure to select a model that has the max. flow line above
the obtained intersecting point. With a model that has the max.
flow line below the obtained intersecting point, the flow rate will
be exceeded, thus leading to a problem such as being unable to

20
10 .
F pNSS——T
C ] = ]
J| C e g
L A A —
i 1 5 G ___________....-—--""
z —
h I
== e
1
E 2 ...(‘:-"""‘"""'———-———1
05 )5&—'
L 1 P
= N
02 AW ;
L _—
015 0.2 04 06 08 10

Inlet pressure (MPa)

N

satisfy the specifications.

22



Series AM

Dimensions

AM150C to 550C

D C: With auto drain (N.C.)
I D: With auto drain (N.O.)
T L Bracket
N (Accessory)
] * =
g N T R oY
H ; + ;zf_‘ Drain cock
mi — I - M —1— N Gray: N.C. <
K}T — l - — Black: N.O. ®
\d Jjﬂ IN ouT
‘ p C 210 one-touch fitting
Combination of D: With auto drain (N.O.)
and H: For medium air pressure
T
<
o
[\
1/4 female threaded
W | Opton |
(L] . .
M5 J: Drain guide 1/4 female threaded
ta
©
=
P
Q
1/4 female threaded
- 7,
STy ey N ¥ U: With differential pressure
&7 > Z . O/ . . . .
/ \ switch (with indicator)
Y
Mo) ES - 3
N
|
%[ N (L[ ouT
T: With element service indicator
TV_V’
L[
| >
IN I 11 ouT
(mm)
Element Differential
B k t | t B N . semice ressure
Model | Portsize | A |B| C | D |E| F |G racket related dimensions bl s
H| I [J|KI[T/U/LIM|[V|IN|O|P |Q|R|S|W|X|Y|Z
AM150C | 1/8,1/4 |158 |10| 99| 63 |20| 6310|173 | 56 |20| 5|6 |6 [12|6 [10|35| 54| 70 |26| 4.5|1.6|24 |37 |32 | 41
AM250C | 1/4,3/8 |172|14|113| 76|20| 76 |10|190| 66 (24| 8|6 |6 |12| 6 [10[40| 66| 80|28| 5 |2 |27 |37 |36 |41
AM350C | 3/8,1/2 |204|18|145| 90|20| 90 |10|222| 80 (28| 8|7 |7 |14|7 |[12|50| 80| 95|34| 5 [2.3|32|37 |42 |41
AM450C | 1/2,3/4 |225|20|166|106 |20 | 106 |10|246| 90 |31|10| 9|9 (18| 9 [15|55| 88 |111|50| 9 |3.2|37 |37 |43 |41
AMS550C | 3/4,1 |259(24|200|122|20| 122 |15|278|100 (33|10| 9|9 |18| 9 [15|65|102|126 60|10 [3.2|39 |37 |51 |41
23 % SNC



Mist Separator Series AM

Dimensions

AM650

D: With auto drain (N.O.)

160
150
{85 120
. = | Bracket
i : I —£:34/ (Accessory) Drain cock: Black
- ) i 3 ;
‘C}‘)i |— ki} W ; i i _1_ - [ __l—-.-
IN ouT 3
! Lo
10 one-touch fitting
[s2]
Yol
aq
X 1)
@
' ” ________Option |

311

J: Drain guide 1/4 female threaded

20
iﬁ_r
4]
1
o
=
2
S
20

1/4 female threaded

Maintenance
space

T: With element service indicator

12

55
r—u
: 21
N out
L el
| ,
Z; SNC 24



Series AM

Dimensions

AM850

220
180 -
120 w 24 ™ Bracket
a T auxi (Accessory)
1 = =<
3 | 8 ‘
a _
&/ f IN jouTt
— e i =
&)
¢ 3
t | |

o

Drain

10

Maintenance
space

Rc 3/8 female threaded

18

220
184
7

25

O
2

D: With auto drain (N.O.)
for AM850

3/8 female threaded

T: With element service indicator
75

37

IN out




